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°* IW T I A & 34 FTEH G FRT T 16 T
797 19 &
Please make sure that the printed pages in this
question paper are 16 in number and it contains
19 questions.

o G970 F qlied & il GIT [/ T HS THT T He F
B -Gkl # JEF-Te g7 foidl
The Code No. and Set on the right side of the
question paper should be written by the candidate
on the front page of the answer-book.

*  FYF F9T F FAV [TGT Y& HT H I8, JoT H HHH
T [T

Before beginning to answer a question, its Serial
Number must be written.
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(2) 4311/(Set : A)
o FTCYRTHE % T 7 @A g/ 97 T 88

Don't leave blank page/ pages in your answer-book.

o GuCyRaE % dlaidd #E A s T& Al o
STeHEAGAT & i@ 3T forar Gav 7 @)

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.

o gierefl STy U To FIFGT GT ST [rE)

Candidates must write their Roll Number on the
question paper.

* I Jo7 % FaT G7 @ g7 78 GrREAT FY o [H FIT-E
g7 g @& & TR # SYUT 56 TEE- A HF A aar
@HBIT TE] [ A

Before answering the questions, ensure that you
have been  supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

G 39T -
(i) @ FeT ST &
(i) FEF F7 % [ERG 9% @B @Ed Ry
T 8

4311/(Set : A)

Previous Pathshala




(3) 4311/(Set : A)

(iii) 597 FE 1 F AAE (i-xvi) TGS FT 7 aer

T &1 J&9% FIT 1 6 F &1 MRGEr 37 oA &
Fv o

(iv) 797 q&qr 2 @ 8 % SHa-TqaIdH 997 & [

J9%F J97 2 S # & Fh9F F IAT TG
30 9= @ 3feF TE & aET

(v) 797 dEr 9 @ 16 % agaudE go7 &

J9F F97 4 Sl & &1 F9% FI-FuT THTT:
60 =] @ 3% & & T

(vi) F97 TE&r 17 @ 19 GF &5 FIEE 597 & o

JA%F G976 GJF F &81 JE9F F IaT THITT:
130 9= @ e T8l 8T TRy

(i) @4 F4 FaUEE FoA 7 oraRE g FYAH &1
qa o7t & @ o HaT TF & FoT e 8

(viii) STHH G, GEIHE T G G T 9T
g 7&l &

4311/(Set : A) P.T.O.

Previous Pathshala




(4) 4311/(Set : A)

General Instructions :

(i) All questions are compulsory.

(ii) Marks for questions are indicated against

each.

(iii) Question No. 1 is divided into sixteen (i-xvi)
objective type. questions.. Each question
carries 1 mark. Answer these questions as

per instructions.

(iv) Question Nos: 2-to 8 are very short answer
type ' questions ‘carrying 2 marks each.
Answer to these should normally not exceed

30 words each.

(v) Question Nos. 9 to 16 are short answer type
questions carrying 4 marks each. Answer to
these  should normally not exceed

60 words each.

4311/(Set : A)

Previous Pathshala




(5) 4311/(Set : A)

(vi) Question Nos. 17 to 19 are long answer type
questions carrying 6 marks each. Answer to
these should normally not exceed 130

words each.

(vii) Internal choice is available in all long
answer type questions. You have to attempt

only one of the given choice.

(viii) Word limit is not applicable to formulae,

numericals and diagrammatical questions.

[ aEgFrs 957

[ Objective Type Questions ]
=i qglasedia 797 % el ey giad -

Choose the correct alternatives of the following
multiple choice type questions :

1. () ‘S199% AFE’ 1 1Y © 1
(&) SFTe Jepieass WANT & AN
(3) aafae @
(|)

(@) SWE # | B8 T
4311/(Set : A) P.T.O.
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(6) 4311/(Set

The 'opportunity cost' means :
(A) Cost of next alternative use
(B) Real cost

(C) Total cost

(D) None of the above

(i) R AR I A AR Feaw ©

Demand of car and petrol is called :
(A) Complementary

(B) Substitution

(C) Unit

(D) Zero
4311/(Set : A)

Previous Pathshala

- A)



(7) 4311/(Set : A)

(i) ST& AR AT A B B, A FA SUGRA B
1

%) g
q)  HC
®) e
g T q HE T

When marginal production is zero, then

(
(
(
(

total production will be :
(A) " Zero
(B) . Negative
(€) Maximum
(D) /None of these
(iv) U SRR & STl 1
(3T) MR @b, AR T & 12 & &
(3) @Fma = ol o (AR) = €MINT 8T (MR)
() AR feR &

(&) (3) o (|) 3+t 8 2
4311/(Set : A) P.T.O.

Previous Pathshala




(8) 4311/(Set

Under perfect competition :
(A) MR curve is below AR curve
(B) Price = AR = MR
(C) AR remains constant
(D) Both (B) and (C)
(v) =339 @& & ?
&) TC =TFC xTVC

g) TC =TFC = TVC

fae|

) TC = TFC + TVC

TC=TFC - TVC

(
(
(
(

S

Which of the following is correct ?
(A) TC=TFCxTVC
(B) TC =TFC +TVC
(C) TC=TFC+ TVC

(D) TC = TFC - TVC
4311/(Set : A)

Previous Pathshala

- A)



(9) 4311/(Set : A)
(vi) 9T Re@ <% (RBI) & ®O g a¥ g8 7 1

(1) 1905 #
(@) 1920 %
(@) 1935
(&) 1995 %#

In which year the Reserve Bank of India
(RBI) was established ?

(A) 1905
(B) 1920
(C) 1935
(D)’ 1995
(vii) ¥ MPC=0.8 8, T 1% & Jod BT 1
(31) 1 @ 2
@) 4 @ s
If MPC = 0.8, then the value of multiplier
will be :
(A) 1 (B) 2
€ 4 (D) 5
4311/(Set : A) P.T.O.
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(10) 4311/(Set : A)
[T #o7 @& & a7 T, ARy

State whether the following statements are true
or false :

(viii) ‘P aegell’ oX A & e arg e B 1
Law of demand is applicable on 'Giffen

goods'.
(ix) & TCEI 9 TH-GER &l HIC T ol 1

Two indifference curve can cut each other.
(x) ged Wwe & a9 HN- 9 A6 Bl &) 1

Law of diminishing returns is applicable on

agriculture.

(xi) BRI § B, SR GO S @ ol 8l 1

Under monopoly, price is equal to marginal

cost.
(xii) 9ftl, €% & F B T 2 1

Supply can exceed stock.
(xiii) STET oM a6, WIT @ fl HEer Bl 1

AR curve is also called demand curve.

4311/(Set : A)

Previous Pathshala




(11) 4311/(Set : A)
(xiv) YT W, AOR ¥ F fEgd aron B 1

Balance of payment is broader concept than

balance of trade.
(xv) @ el H fer fafvmg X o S R 1

Fixed exchange rate is found in all

countries.
(xvi) UEIT 1 Wb Tg o § i feam oiam 81 4

Stock of petrol is| included in national

income.

[ ST 997 ]
[ Very Short Answer Type Questions ]

2. Srdee ot Sifos Herr gl g ik 2

State the material welfare definition of economics.

3. AN %o e @ed € ? 2

What is demand function ?

4. B & G Bl S R 2
Write down the conditions for equilibrium of the
firm.

4311/(Set : A) P.T.O.
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(12) 4311/(Set : A)
5. BT I & &1 I3 AT 2

Give two examples of transfer payment.

6. JAEH &k § F M § 7 2

What do you understand by tertiary sector ?

7. SRR Sl qRE T 2

Define Oligopoly.

8. el faf-ma & & R S| 2

Define flexible rate of exchange.

[ TS 539 ]

[ Short Answer Type Questions |

9. Ru Tu ieg i WerEa A () FI 9t W, (i) FA
URadHd @R, (i) oNEd S AN 9 (iv) ehad
TRaaHid @Fd ST BT - 1+1+1+1=4

SR (3= | o | 1 | 2| 3| 4| 5|6

% @ () | 40 | 80 | 110|126 128 | 135 | 140

)

4311/(Set : A)

Previous Pathshala




(13) 4311/(Set : A)

Calculate (i) total fixed cost, (ii) total variable
cost, (iii) average fixed cost, and (iv) average

variable cost with the help of the given data :

Production (Units) | O 1 2 3 4 5 6

Total Cost (3) 40 | 80 |110|126|128 135|140

10. ‘THIEHR qor Qi Sfifier | #i &77 A< SR 4

State any four differences between -'monopoly'

and 'perfect competition'.

11. THIHT S G & 3R S8 e O g 4
Define monopoly and state its main features.
12. ‘Hegadl q° ‘Al aegell’ # AR W B 4

Differentiate between 'intermediate' and 'final

goods'.

4311/(Set : A) P.T.O.
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13.

14.

15.

16.

17.

(14) 4311/(Set : A)
Had S & el v HA F a0 B 4
Explain any four functions of Central Bank.
W= A qur ARG Faw # = W H| 4

Differentiate between 'autonomous investment'

and 'induced investment'.

Hifse i & Jed gl B U B 4

Explain the main components of monetary

policy.

THR] 9 HT FT Hew & 7 4

What is the importance of government budget ?

[ S SAUES 997 ]

[ Long Answer Type Questions ]

AT B BT A B IR 31 SR A # ST
fafer =1 srear #3 2+4=6

Define price elasticity of demand. Explain the

proportionate method to measure it.

4311/(Set : A)
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18.

(15) 4311/(Set : A)

st
OR
T M A e 7 de FRM A ar e e P 2+44=6

What is law of demand ? Why does this law

operates ?

T iR R wed & 7 g uREREr § ofedeie
Refer & &1 & S @ QI G SR e )
2+4=6

What is perfect competition ? Discuss shortrun
equilibrium of the firm in perfect competition by

marginal approach.

g
OR

‘G § T d g § g | @Rel # g |

R TR 3+3=6

Distinguish between 'extension of supply' and

'increase in supply' with the help of diagrams.

4311/(Set : A) P.T.O.
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(16) 4311/(Set : A)
19. TS A & 799 $H ‘g O & e Hie 6

Explain the 'expenditure method' of measuring

the national income.
AYqT
OR

T ST H A H ST fafey & e &1 6

Explain 'income method' of calculating national

income.

4311/(Set : A)
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°* IW T I A & 34 FTEH G FRT T 16 T
797 19 &
Please make sure that the printed pages in this
question paper are 16 in number and it contains
19 questions.

o G970 F qlied & il GIT [/ T HS THT T He F
B -Gkl # JEF-Te g7 foidl
The Code No. and Set on the right side of the
question paper should be written by the candidate
on the front page of the answer-book.

*  FYF F9T F FAV [TGT Y& HT H I8, JoT H HHH
T [T

Before beginning to answer a question, its Serial
Number must be written.

4311/(Set : B) P.T.O.
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(2) 4311/(Set : B)
o FTCYRTHE % T 7 @A g/ 97 T 88

Don't leave blank page/ pages in your answer-book.

o GuCyRaE % dlaidd #E A s T& Al o
STeHEAGAT & i@ 3T forar Gav 7 @)

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.

o gierefl STy U To FIFGT GT ST [rE)

Candidates must write their Roll Number on the
question paper.

* I Jo7 % FaT G7 @ g7 78 GrREAT FY o [H FIT-E
g7 g @& & TR # SYUT 56 TEE- A HF A aar
@HBIT TE] [ A

Before answering the questions, ensure that you
have been  supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

G 39T -
(i) @ FeT ST &
(i) FEF F7 % [ERG 9% @B @Ed Ry
T 8

4311/(Set : B)

Previous Pathshala




(3) 4311/(Set : B)

(iii) 597 FE 1 F AAE (i-xvi) TGS FT 7 aer

T &1 J&9% FIT 1 6 F &1 MRGEr 37 oA &
Fv o

(iv) 797 q&qr 2 @ 8 % SHa-TqaIdH 997 & [

J9%F J97 2 S # & Fh9F F IAT TG
30 9= @ 3feF TE & aET

(v) 797 dEr 9 @ 16 % agaudE go7 &

J9F F97 4 Sl & &1 F9% FI-FuT THTT:
60 =] @ 3% & & T

(vi) F97 TE&r 17 @ 19 GF &5 FIEE 597 & o

JA%F G976 GJF F &81 JE9F F IaT THITT:
130 9= @ e T8l 8T TRy

(i) @4 F4 FaUEE FoA 7 oraRE g FYAH &1
qa o7t & @ o HaT TF & FoT e 8

(viii) STHH G, GEIHE T G G T 9T
g 7&l &

4311/(Set : B) P.T.O.

Previous Pathshala




(4) 4311/(Set : B)

General Instructions :

(i) All questions are compulsory.

(ii) Marks for questions are indicated against

each.

(iii) Question No. 1 is divided into sixteen (i-xvi)
objective type. questions.. Each question
carries 1 mark. Answer these questions as

per instructions.

(iv) Question Nos: 2-to 8 are very short answer
type ' questions ‘carrying 2 marks each.
Answer to these should normally not exceed

30 words each.

(v) Question Nos. 9 to 16 are short answer type
questions carrying 4 marks each. Answer to
these  should normally not exceed

60 words each.

4311/(Set : B)

Previous Pathshala




(5) 4311/(Set : B)

(vi) Question Nos. 17 to 19 are long answer type
questions carrying 6 marks each. Answer to
these should normally not exceed 130

words each.

(vii) Internal choice is available in all long
answer type questions. You have to attempt

only one of the given choice.

(viii) Word lLimit is not applicable to formulae,

numericals and diagrammatical questions.

[ aEgFrs 957

[ Objective Type Questions ]

=i qglasedia 797 % el ey giad -
Choose the correct-alternatives of the following
multiple choice type questions :

1. () fr=fofeg § @ wmfte odamey W #-91 &N
7el = ? 1
(&) U o w vEE
(3) FTa e S @ ST
(|) foil SR @ diedes
(3) =™ | *8 T

4311/(Set : B) P.T.O.

Previous Pathshala




(6) 4311/(Set : B)

Which of the following statement fits well

with macro-economics ?

(A) Study of national income

(B) Scarcity and choice are studied
(C) Private production is promoted

(D) None of these

(i) e agg @ Rafq &, dF e B o o &

(37) oo
(@), FoTHS
() OX-3787 B FANIIK
(3) oY-31& & FERK

In case of Giffen goods, the slope of demand

curve is :

(A) Positive

(B) Negative

(C) Parallel to OX-axis

(D) Parallel to OY-axis
4311/(Set : B)
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(7) 4311/(Set : B)

(i) ‘vfowd & Faw, &= & 9 o fera & s
e o o § 7 1
(1) T
(@) =i ERe
(|) e B
(=) S
'The Laws of Returns' are studied under the

theory of :
(A) Demand
(B)  Price determination
(@) Factor pricing
(D) ‘Production
(iv) TCEICT @6, g (S5 I T B @ 1
(37) TR
(3) ST
(|) et
(3) ¥ & #3 T

4311/(Set : B) P.T.O.
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(8) 4311/(Set : B)

Indifference curve is to the origin :
(A) Concave
(B) Convex
(C) Straight line
(D) None of these
(v) T sEfar § 5 & wga @ Rafy o g,
Sq ¢ 1
(3) MC =TR
(@ MC=MR
(@) MC=TC
(& AC=AR

Under condition of perfect competition the

firm is in equilibrium, when :

(A) MC =TR
(B) MC = MR
(C) MC=TC
(D) AC = AR

4311/(Set : B)
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(9) 4311/(Set : B)

(vi) ‘A Rsa & T8 &5 Bl o, T 1

(31) agett @1 IR B B

(3) awgstt & ITART B B

() 71 SR & S B

(3) awgelt @1 oM iR i 2 B

'Rest of the World Sector' is the one which :

(A) Produces goods.

(B) Consumes goods.

(C) Lends money.

(D) Exports and Imports of the goods.
(vii) & ST & I ARBR g S &l 8 ? 1

(31) =i &

(3) =maiE %

(w) e

(3) S & FE T

4311/(Set : B) P.T.O.
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(10) 4311/(Set : B)

Which bank is authorized to issue

currency ?

(A) Central Bank

(B) Commercial Bank
(C) Cooperative Bank

(D) None of the above
(vii) A& MPC = 0.5 &, @ T° (K) & I &M : 1

(a) 1 @ 6

(®). 2 () 4

If MPC =-0.5, then the value of multiplier
(K) will be

(A) 1 (B) ‘6

(C) 2 (D) 4

T #eT @8l & a1 T, JasT

State whether the following statements are true
or false :

(ix) RT 7o ®i § B AR TEI BN B 1

There is no difference between supply and

stock.
4311/(Set : B)
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(11) 4311/(Set : B)

(x) A @ A GEde 5, Wy % N E8
et | S & Bk 1

'Law of demand' is universal, however, it

does not apply in some cases.

(xi) 9 @ P FI-ICE @ § FEd 2 1
Budget line is also known as iso-product
line.

(i) STEHT T ST BT B 1

Income tax is an indirect tax.
(xiii) UG FRY e & T W FR Hr R 1

'Induced investment' depends on the level

of income.

(xiv) A FHFT SUEN WERT (MPC) 7 8, @ T
(K) &1 9 1 (TH) Brm 1

If marginal propensity to consume (MPC) is

zero, then multiplier (K) will be 1(one).

4311/(Set : B) P.T.O.
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(12) 4311/(Set : B)

(xv) HE @G W GDP = #HEN @fd W
NDP - fE@Ee 29| 1

GDP at factor cost = NDP at factor

cost — Depreciation.

(xvi) AR AT T FAE 99 § X @0 0 8l

There is difference between balance of trade

and balance of payments.

[ SAi-TeRRIcTh 999 |
[ Very Short Answer Type Questions ]

2. AR & BT GHE D F YA BT FT § ! 2

What ‘are the two main causes of the central

problem of an economy ?

3. e sife/afean axge @@ ekl 8 2 2

What are inferior goods ?

4. IUET B T e 7 2

What is production function ?

5. FHHARET & TRSifes ¥ oMY Fr g9 & ? 2

What do you understand by compensation of

employees ?
4311/(Set : B)
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(13) 4311/(Set : B)

6. ‘TET T AR ‘T T’ & A& §) ST=X SRy 2
Write down two differences between 'factor
income' and 'transfer income'.

7. NG B B & HE FABY 2
State two functions of Commercial Banks.

8. fafma & &t gt S 2
Give definition of exchange rate.

[ AETAIHSD 7 ]
[ Short Answer Type Questions |

9. TEIAT @b i fvan ey 4
Explain the characteristics of indifference
curves.

10. ‘g # g’ = Jeis | are B 4
Explain 'increase in supply' with the help of
diagram.

4311/(Set : B) P.T.O.
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11.

12,

13.

14.

15.

16.

(14) 4311/(Set : B)
e T FM B P IHH A RN-WMR ! 2+2=4

What is macro-economics ? What are its scope ?

Aad U MR (APC) &R dWra Sueim gt
(MPC) & § ? 4

What are Average Propensity to Consume (APC)
and Marginal Propensity to Consume (MPC) ?

TSl & His Y. HA IS 4

Explain any four functions of money.

Tof ASTIR Hgeie &1 (ol |ied eare) i) 4

Explain the  full- employment equilibrium with

the help of diagram.

AT ? A & e fadwan ARy 4
What is Tax ? Explain main features of tax.
‘@R AT T PIAE AT H F W B 4

Distinguish between 'balance of trade' and

'balance of payments'.

4311/(Set : B)

Previous Pathshala




(15) 4311/(Set : B)
[ & SaUES 997 |

[ Long Answer Type Questions ]

17. HT 6 R 2 ? AT O H AN A B AR F FH
BT B § 7 2+4=6
What is demand curve ? Why does a demand
curve slope downwards ?

Tgar

OR
A B s B e A o B T
fafer <t e i 2+4=6
What is price elasticity of demand ? Explain the
'total expenditure method' to measure it.

18. SRR {68 Fed & 7 36 (SNl aaRll 2+ 4 =6

What is oligopoly ? Explain its characteristics.
YT
OR
Tt SRR TR @ S SRy 6
Explain the characteristics of perfect competitive
market.
4311/(Set : B) P.T.O.
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(16) 4311/(Set : B)
19. TS M & AGA & ‘79 Al &t e &3 6

Explain 'income method' of measuring national
income.

gqr
OR

A UM Bl T A FT E B P 39 AT 9 Hhd
AT ST Gl & 7 3+3=6

What is meant by error of double counting ?

How it can be avoided ?

4311/(Set : B)

Previous Pathshala
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°* IW T I A & 34 FTEH G FRT T 16 T
797 19 &
Please make sure that the printed pages in this
question paper are 16 in number and it contains
19 questions.

o G970 F qlied & il GIT [/ T HS THT T He F
B -Gkl # JEF-Te g7 foidl
The Code No. and Set on the right side of the
question paper should be written by the candidate
on the front page of the answer-book.

*  FYF F9T F FAV [TGT Y& HT H I8, JoT H HHH
T [T

Before beginning to answer a question, its Serial
Number must be written.
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(2) 4311/(Set : C)
o Fuv-giaer & diT § @l 1/ 91 T 83

Don't leave blank page/ pages in your answer-book.

o GuCyRaE % dlaidd #E A s T& Al o
STeHEAGAT & i@ 3T forar Gav 7 @)

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.

o gierefl STy U To FIFGT GT ST [rE)

Candidates must write their Roll Number on the
question paper.

* I Jo7 % FaT G7 @ g7 78 GrREAT FY o [H FIT-H
g7 g @& & TR # SYUT 56 TEE- A HF A aar
@HBIT TE] [ A

Before answering the questions, ensure that you
have been  supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

G 39T -
(i) @ FeT ST &
(i) FEF F7 % [ERG 9% @B @Ed Ry
T 8

4311/(Set : C)

Previous Pathshala




(3) 4311/(Set : C)

(iii) 597 FE 1 F AAE (i-xvi) TGS FT 7 aer

T &1 J&9% FIT 1 6 F &1 MRGEr 37 oA &
Fv o

(iv) 797 q&qr 2 @ 8 % SHa-TqaIdH 997 & [

J9%F J97 2 S # & Fh9F F IAT TG
30 9= @ 3feF TE & aET

(v) 797 dEr 9 @ 16 % agaudE go7 &

J9F F97 4 Sl & &1 F9% FI-FuT THTT:
60 =] @ 3% & & T

(vi) F97 TE&r 17 @ 19 GF &5 FIEE 597 & o

JA%F G976 GJF F &81 JE9F F IaT THITT:
130 9= @ e T8l 8T TRy

(i) @4 F4 FaUEE FoA 7 oraRE g FYAH &1
qa o7t & @ o HaT TF & FoT e 8

(viii) STHH G, GEIHE T G G T 9T
g 7&l &

4311/(Set : C) P.T.O.

Previous Pathshala




(4) 4311/(Set : C)

General Instructions :

(i) All questions are compulsory.

(ii) Marks for questions are indicated against

each.

(iii) Question No. 1 is divided into sixteen (i-xvi)
objective. type. questions.. Each question
carries 1 mark. Answer these questions as

per instructions.

(iv) Question Nos: 2-to 8 are very short answer
type ' questions ‘carrying 2 marks each.
Answer to these should normally not exceed

30 words each.

(v) Question Nos. 9 to 16 are short answer type
questions carrying 4 marks each. Answer to
these  should normally not exceed

60 words each.

4311/(Set : C)

Previous Pathshala




(5) 4311/(Set : C)

(vi) Question Nos. 17 to 19 are long answer
type questions carrying 6 marks each.
Answer to these should normally not exceed

130 words each.

(vii) Internal choice is available in all long
answer type questions. You have to attempt

only one of the given choice.

(viii) Word limit is not applicable to formulae,

numericals and diagrammatical questions.

[ a¥gfss 9 |

[ Objective Type Questions ]
[Tl SglamediT 997 % @l lawey g -

Choose_the correct alternatives of the following
multiple choice type questions :

1. () fr=fofeg & @ $O-8 eefegaen & d=g e
7El s ? 1
(31) =M SR WY ?
(3) Fros fT ST & ?
(|) et Qe SUERT SE W w7
(7) Fefwar ofX SRS @ e
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(6) 4311/(Set : C)

Which of the following is not a central

problem of an economy ?

(A) What to produce ?
(B) For whom to produce ?

(C) How to achieve fuller utilization of

resources ?

(D) The problem of = poverty and

unemployment.

(i) FiaRed § § gufte o 9T iN-91 F=F g8
g7 1

(o7) T o T TeE

(@) TmE e i @ steEs

(|) foolt SqES @ e

(@ SR E Y B T
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(7) 4311/(Set : C)

Which of the following statement fits well

with macro-economics ?
(A) Study of national income
(B) Scarcity and choice are studied

(C) Private production is promoted

(D) None of the above
(iti) foT agett W AT @1 fEE @Ry A @ 7 1
(a1) et e
SRR
() Tt e

(7). sfoerge® awgs

On which commodities law of demand is

applicable ?

(A) Giffen goods

(B) Normal goods

(C) Substitution goods

(D) Articles of distinction

4311/(Set : C) P.T.O.
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(8) 4311/(Set : C)

(iv) SUAIRT Hger bl FAqeq § BN, S§ q

HUT : 1
(37) crfepam o
(7)  sHferpa
(w) et e
(3) =™ | *:8 T

Consumer attains equilibrium, when he gets :

(A) Maximum income

(B) Maximum loss

(C) Maximum satisfaction

(D) None of these
(v) Fefafed & @ g7 & ool #E s 8 7 1

(31) fafma a1 =rem

(@) T A

(®) (o) ot (a) &

(3) 79 @& e&ia
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(9) 4311/(Set : C)

What are the primary function of money in

the following ?

(A) Medium of exchange
(B) Unit of value

(C) Both (A) and (B)

(D) Transfer of value

[T &9 &€ I T, sy -

State whether the following statements are true

or false

(vi) ‘P 9wy’ A & T F STHEE B 1
'Giffen goods' is an exception to the law of
demand.

(vii) SNET T a6 AT 956 Heaw 2 1

AR is also called demand curve.

(viii) qft &6 & e B Tl ol 1

Supply can be more than stock.
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(10) 4311/(Set : C)

(ix) ‘T W AR T TaB 1 3 1

'Interest on capital' is a flow variable.

YT AFTd 9¥ GDP = 9199 dFld WX

(x)
NDP - fidmEe =3 1
GDP at factor cost = NDP at
factor cost — Depreciation.
(xi) T T AFER G el 2l 1
Tax is not a compulsory payment.
R &7 ¢

Fill in the blanks :

(xii) 59 FAT % ded W i @ Sl s, df 34
............. Fed &l (q & FrEr/gR | gRs)

1

Increase in quantity supplied due to rise in

price is called .............. .

(Extension of supply/Increase in supply)
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(11) 4311/(Set : C)

(xiii) BEGRT .ovveennnnen AT B (EEIReT/ards) 1
Scholarshipis .............. income.

(Transfer/Real)

(xiv) JaT & oo e & 2 1

(@t e /R 9 6 o)

.............. included in money.

(Only coins/Currency and-bank deposits)

Fiscal policy refers to governments .............

policy.
(revenue & expenditure/defence)
(xvi) &1 T YR ST ST 8 oo | 1
(SR 7% /Fe ST T7Teh)
Keynes' multiplier was known as ............ .

(employment multiplier/investment multiplier)
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(12) 4311/(Set : C)
[ ST 999 |

[ Very Short Answer Type Questions ]

2. AYAE H AW geedl g & 2

Give scarcity definition of economics.

3. IUHE & e @ AT F gEEd § 7 2

What do you understand by consumer's

equilibrium ?
4. gt SRR AT B B § 7 >

What is Perfect Competitive market ?

5. ®% 9 T H g9 & 7 2

What do you understand by Stock ?

6. FAMND &l % & MAHH HE AR 2
Write down two primary functions of commercial
banks.

7. 9C % FofC § T F¥T THAA © ¢ 2

What do you understand by deficit of budget ?
4311/(Set : C)
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(13) 4311/(Set : C)
8. R A W & & aw IaEy 2

Write two advantages of fixed exchange rate

system.

[ TS 57 ]

[ Short Answer Type Questions ]

9. ‘FRF B UABT dM YN F ufewd’ § X WK
Eﬁml 4

Distinguish between 'returns. to a factor' and
'returns to a scale'.

10. ‘T SEEEEY G ‘ThiER! S| 5 b @7
N S 4

Write any four- points of difference between

'Perfect Competition' and '‘Monopolistic
Competition's
11. ‘Folt & q1 ‘Jafees o § @1 o= 8 7 4

What is the difference between 'Private Income'

and 'Personal Income' ?

12. A g &l 4ROM &l SR e S| 4
Explain in brief, the concept of mixed income.
4311/(Set : C) P.T.O.
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13.

14,

15.

16.

17.

(14) 4311/(Set : C)
T fafm somel @ Piear 7@ § ¢ 4

What are difficulties of barter system of

exchange ?

qof AR Hgere &l ol a|fed eamen i 4

Explain the full employment equilibrium with

the help of diagram.

O I RN i G S el H 4

Explain the concept of multiplier diagrammatically.

PIAN TS Higd BN & s HROT R 4

Explain ~the economic "reasons for adverse

balance of payments.

[ & SHUES 99 |

[ Long Answer Type Questions ]

i & w3 ? ae e A e § ?
2+4=6

What is law of demand ? Why does this law
operates ?
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Previous Pathshala




(15) 4311/(Set : C)
gar

OR

U @ HEd A R #Rd R 7 O3 A @ W o
fafey &t e & 2+4=6

What is price elasticity of demand ? Explain the

'total expenditure method' to measure it.

18. Ui & T M & 7 W YA HT1 A T i AT

£ 2+4=6
What is supply ? Explain the factors affecting
supply.

SIUE]N

OR

oo SR @@ B ? g SRR § o § W &
e &l T faf & e Y 2+4=6

What is perfect competition ? Discuss the
shortrun equilibrium of the firm in perfect

competition by way of marginal approach.
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(16) 4311/(Set : C)

19. TSGR U@ § oMY F §9ea & ! s
faQryanett @1 dferg aoi= iR 24+4=6

What do you wunderstand by monopolistic
competition ? Explain its important

characteristics in brief.
YT
OR

TR fhe Fed & ? 2G4 [OASdl Sat 2+4=6

What is oligopoly ? Explain its characteristics.
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°* IW T I A & 34 FTEH G FRT T 16 T
797 19 &
Please make sure that the printed pages in this
question paper are 16 in number and it contains
19 questions.

o G970 F qlied & il GIT [/ T HS THT T He F
B -Gkl # JEF-Te g7 foidl
The Code No. and Set on the right side of the
question paper should be written by the candidate
on the front page of the answer-book.

*  FYF F9T F FAV [TGT Y& HT H I8, JoT H HHH
T [T

Before beginning to answer a question, its Serial
Number must be written.
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(2) 4311/(Set : D)
o FTCYRTHE % T 7 @A g/ 97 T 88

Don't leave blank page/ pages in your answer-book.

o GuCyRaE % dlaidd #E A s T& Al o
STeHEAGAT & i@ 3T forar Gav 7 @)

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.

o gierefl STy U To FIFGT GT ST [rE)

Candidates must write their Roll Number on the
question paper.

* I Jo7 % FaT G7 @ g7 78 GrREAT FY o [H FIT-E
g7 g @& & TR # SYUT 56 TEE- A HF A aar
@HBIT TE] [ A

Before answering the questions, ensure that you
have been  supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

G 39T -
(i) @ FeT ST &
(i) FEF F7 % [ERG 9% @B @Ed Ry
T 8
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(3) 4311/(Set : D)

(iii) 597 FE 1 F AAE (i-xvi) TGS FT 7 aer

T &1 J&9% FIT 1 6 F &1 MRGEr 37 oA &
Fv o

(iv) 797 q&qr 2 @ 8 % SHa-TqaIdH 997 & [

J9%F J97 2 S # & Fh9F F IAT TG
30 9= @ 3feF TE & aET

(v) 797 dEr 9 @ 16 % agaudE go7 &

J9F F97 4 Sl & &1 F9% FI-FuT THTT:
60 =] @ 3% & & T

(vi) F97 TE&r 17 @ 19 GF &5 FIEE 597 & o

JA%F G976 GJF F &81 JE9F F IaT THITT:
130 9= @ e T8l 8T TRy

(i) @4 F4 FaUEE FoA 7 oraRE g FYAH &1
qa o7t & @ o HaT TF & FoT e 8

(viii) STHH G, GEIHE T G G T 9T
g 7&l &

4311/(Set : D) P.T.O.

Previous Pathshala




(4) 4311/(Set : D)

General Instructions :
(i) All questions are compulsory.

(i) Marks for questions are indicated against

each.

(iii) Question No. 1 is divided into sixteen (i-xvi)
objective type questions. Each question
carries 1 mark. Answer these questions as

per instructions.

(iv) Question Nos. 2 to 8 are very short answer
type questions carrying 2 ~marks each.
Answer to these should normally not exceed

30 words each.

(v)  Question Nos. 9 to 16 are short answer type
questions carrying 4 marks each. Answer to
these ~should normally not exceed

60 words each.

(vi) Question Nos. 17 to 19 are long answer
type questions carrying 6 marks each.
Answer to these should normally not exceed
130 words each.
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(5) 4311/(Set : D)

(vii) Internal choice is available in all long
answer type questions. You have to attempt

only one of the given choice.

(viii) Word limit is not applicable to formulae,

numericals and diagrammatical questions.

[ TGS 5 |
[ Objective Type Questions ]
=it qglasedia 597 & el [y giad -

Choose the correct alternatives of the following

multiple choice type questions :

1. (i) frfafed § & $H-ar gafte ax & 7 1
(37) TR - R
(@) @ A=
(|) & & R

(3) g A

Which of the following is a macro variable ?
(A) Theory of employment

(B) Price elasticity

(C) Theory of rent

(D) Price of a commodity
4311/(Set : D) P.T.O.
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(6) 4311/(Set : D)

(i) Frfafed & & PH-91 TR TFT ’ 7 1
(@ mu=2TY
AQ

(&) MU=TU, ~TU,

Which of the following is a wrong

equation ?

&) mu =AY
AQ

(B) TU=X:1MU

@ Mmu=Y
Q

(D) MU=TU, -TU,_,

(iii) AN & BET q B ARET e B § ? 1

(1) @ (3) ot

(@) axe @ @

4311/(Set : D)
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(7) 4311/(Set : D)
How many degrees, the price elasticity of
demand have ?
(A) Seven (B) Five
(C) Twelve (D) Two
(iv) Fr=fofag & @ $9-8 sl T=d B 7 1
(37) Tt T
(3) veE FEd
() SifEw el s
(3) gE T g=d

Which - of the following is .an external
economies ?

(A) Technical economies

(B) © Managerial economies

(C) Economies of risk

(D) Economies of information

(v) | A9 3G B §, S 1
(8) AR > AC (@) AR=AC
(|) AR <AC (@ TR>TC
4311/(Set : D) P.T.O.
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(8) 4311/(Set :

Normal profits occurs, when :
(A) AR > AC (B) AR =AC

(C) AR < AC (D) TR > TC

(vi) fF TRIR & &9 % PHind Eewrs & 7
(&7) weHIEEBR
(%) ot et
(W) iR ST
(8) = q.BE T
In which market a firm is price taker ?
(A) Monopoly
(B) Perfect competition
(€) Monopolistic competition

(D) None of these

(vii) ¥R 7 U &Y &I AIC B SR HIT & 7
(1) R o offe sfvear
(@) @ E@R
(|) T

(7) T TER
4311/(Set : D)
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(9) 4311/(Set : D)

Who issues one rupee note in India ?
(A) Reserve Bank of India
(B) Government of States
(C) President
(D) Government of India
(viii) g 9 F i B 8 1
(31) gom
(@) ofgsg wd
() gt e
(&) Swde @
Balance of payments includes :
(A) Visible items
(B) Invisible items

(C) Capital transfer

(D) All of the above
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(10) 4311/(Set : D)
g #e @8l & ar T, JaET

State whether the following statements are true

or false :

(ix) ‘T W A T REAA /FaR =] 3 1
'Interest on capital' is a flow variable.

(x) Hed SEd H FEH dad BN W aFL Bl 51 1

Law of diminishing returns is applicable on

agriculture alone.

(3ci) - TR H & fashalr B 21 1
There are two sellers in oligopoly.

(xii) F& B Yfd FAGER BH 2l 1
Supply of milk is inelastic.

(xiii) J&T 7 Haq Hidl Ale AMHA (BT A B 1

Money consists of currency notes only.

(xiv) TCYUEE IOFIR ST &% ATgER S=d, A &l
FeH Bl 1

As per Classical Theory Employment saving

is a function of income.

4311/(Set : D)
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(11) 4311/(Set : D)

(xv) QAT ST FX B 1

Service tax is indirect tax.

(xvi) ReR fafa X gomel # M @ X a3
freifa @t Sl 21 1

Rate of exchange is fixed by the government

in case of fixed exchange rate.

[ - 997 |

[ Very Short Answer Type Questions ]

2. A Hl I’ Hl GRS S 2

Give 'Marshall's' definition of economics.

3. T i gRemr & 2

Define Demand.

4. 9 Hrn FEE B 7 2

What is the law of supply ?

5. 99 T 59 Feq B 7 2

What are selling costs ?
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(12) 4311/(Set : D)
6. ‘THEHY X ‘THEHN SR’ § @i § oK
ERIER™Y 2

Write any two differences between 'monopoly’

and 'monopolistic competition'.

7. % v goe @ & HieEar JaR 2

Write down two difficulties of barter system.

8. & HI TR 3| 2

Give definition of tax:

[ LU 997 ]

[ Short Answer Type Questions ]

9. %N SWUE T TH ITE H Gl @i fed
AR X 4

Explain the relationship between total product

and marginal product with the help of diagram.

10. ‘@ftc gy’ qur ‘it ofdyre § 9 R & P 4

What is the difference between 'micro-economics'

and 'macro-economics' ?
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(13) 4311/(Set : D)

11. ‘THEER T T gReEitar § 5 g7 <R SRt 4
State any four differences between 'monopoly’
and 'perfect competition'.

12. 9RAE o6 9% & &0 &8 -4 ¢ ° 4
What are the main functions of Reserve Bank of
India ?

13. ‘ot o AR ‘FafRs AE’ H F RR © 7 4
What is the difference between 'private income'
and 'personal income" ?

14. o ISP AgeA &1 emi=s] afed rear &) 4
Explain diagrammatically, the full employment
equilibrium.

15. o F q°TSG A H T O © 4
Differentiate between 'revenue expenditure' and
'capital expenditure'.

16. ‘ANUR AW T PFIAM AW F <R B0 4
Distinguish between 'balance of trade' and
'balance of payments'.
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[ & SAUES 97 |

[ Long Answer Type Questions ]

17. | @6 M2 ? AR 9% H oA AR B AR g
g B & 7 2+4=6

What is demand curve ? Why does a demand

curve slope downwards ?

AYqr

OR

G & Hd A Y Fed & -39 U, H di et
% AT B 2:4-6

What is price elasticity of demand ? Explain the

factors affecting it.

18. @Rl &l Werdl 4 ‘Ofd § fawr du ‘qfd § g A
SOSASERIEN 3+3=6

Distinguish between 'extension of supply and

'increase in supply' with the help of diagrams.
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YT
OR

oo iR IR % faRand SE 6

Explain the characteristics of perfect competitive
market.

19. USF T & q97 & ‘M Ay o e sk 6

Explain 'income method' of calculating the
national income.

e
OR
P Siel @l Heran § (1) BRY oTE ae (i) TS o
EIGIETE 4+2=6
T ?)

() F9gd 10,000
(i) M 5,000
(iil) <A 400
(iv) < 3,000
(v) i om 400
(vi) SHAfGaRd @ 200
(vii) ISR G A 400
(viii) T &9 T &Y 400
(ix) foRel @ U g qET A 1,000

4311/(Set : D) P.T.O.

Previous Pathshala




(16) 4311/(Set : D)

Calculate (i) Domestic Income and (ii) National

Income with the help of the following data :

Items )
(i) Wages 10,000
(i) Rent 5,000
(iii)) Interest 400
(iv) Dividend 3,000
(v) Mixed Income 400
(vi) Undistributed Profits 200
(vii) Social Security Contribution 400
(viii) Corporate Profit Tax 400
(ix) Net Factor Income from Abroad 1,000
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